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Periodograms 
(e.g., a unit-intensity “white” process) 
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Einstein-Wiener-Khinchin theorem 
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Periodogram averaging (illustrating 
the Einstein-Wiener-Khinchin theorem) 
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Periodogram averaging (illustrating 
the Einstein-Wiener-Khinchin theorem) 
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Respiratory model 

cf. Khoo’s 
textbook for N=1 
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Heart rate variability 
ECG signal 
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Power spectrum 
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Modeling filters 

e.g., generate sample functions of WSS y[·] that has specified µy

#

More generally, H(z)A(z) for allpass A(z) , A(z)A(z-1
) = 1

Need to add mean µy to the output 

and Cyy[m] = �y
2
(⇢�[m� 1] + �[m] + ⇢�[m+ 1])

Try h[n] = a�[n] + b�[n� 1] driven by unit-intensity white noise x[·],
H(z) = a+ bz�1 , |H(ej⌦)|2 = Dyy(e

j⌦
)
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